FE2-154H%K RS SR
REFMmEALAXICET HEHMmRE
ZHES IEXER I 5 £ I £ @ ® FE A (BiA ) AHLAR I = #© =
- =n DIP.PN ¢ 400 (#£#£58) L=27.5m.DIP.GX$400 L=117.5m,DIP.GX¢® 150 L=155m.,DIP.GX¢ 100 L=3.0m.
+K1100942 KER = 1)EE7(}<§7T“X§I$ Tﬁgﬁfﬁaﬁg ¥104,357,000 — e DIP.GX$ 75 |_§=5.0m~/<9734#.ex¢400 2% HIFH GXP150 15 HYIH.GXH100 12, ALIFH.GXBT5 15,
= et ZERFPT5 1
BB F R EDRED TEOEITEE i BIERE kg0l
SHMEEE = 4 i EmBi| e | B 1SO ; ; 525 BT g PR 54 4= 3 STl R & E MEADH SR e
0| L L | ol Pt 1 38 put | cPOERS s0mE | THm| B2 oo | BesAE e | g oz | ERC o tm | prse-mog| BTEAEO | WARLI REBLEK g g "
[ 1 2 2 1 2 2 4 4 1 — 1 1 2 1 2 2 2 (R (R =) — 31 10.000
({4 LS D ETflidE R )
BB F i EDRED TEOEIEE i BIERE kg0l
ARLE = i . EInBE| G e | 1SO ; ; K55 BT ) . % = 5 il R A E MR e
- L B L B L O s0mE LR Ee T o oo | BesAE | prm oz | ERC - tm | prse-mog| BTEEO | WAL REBLEK g pgpn "
PR TE#MfASH iR
T EMRRRH 0 2 2 0 0 2 4 4 1 — 1 1 2 1 2 2 0 0 0 — 25
[ sFmemoF®s | 25000 |
(¥4 Ffi#sR
AALIE#E (Bt k) EIERERE KBEE) BEEiiE (C)=| & FEE 5 - =
ALE (A) EAR D ® ®-1 B2 Mm% = (B) 100+(B) (C/A) x100,000,000 EALE FHREREORR
K 4 2R £ A H
«f & A B
S % A B
AHLE BTG (Biih) BER (BEFHEE) X1 ME A, FHMEE G/ N E MRS EALEIMLETRT
HETRE 100.000 2. MER=ER/ZEEHR) X NERADMER)




